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10.

11.

What are the elements of cost?

Prepare a cost sheet Raw material consumed
Rs. 80,000. Wages Rs. 20,000; Factory expenses is
charged at 100% wages: Office overheads charged
at 20% on factory cost.

SECTION B — (5 x 10 = 50 marks)

Answer any FIVE questions.

‘What is double entry m%mﬁma Om book keeping?

Kxplain its mo?mbnmmmm

On 1% January 2003 a limited company purchased
machinery for Rs. 12,000 and on 30% June 2004, it
acquired additional machinery at a cost of
Rs. 2,000. On 315t March, 2005 one of the original
machines which had cost of Rs. 500 was found to
have become obsolete and was sold as scrap for
Rs. 50. Tt was replaced on that mmﬁm.g\ a new
machine costing Rs. 800 depreciation to . be
provided at the rate of 15% per annum on the
written down value. Show ledger accounts for the
first three years.

Discuss the management uses of funds flow
statement. What are its limitations?
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14. State the primary objectives of installation of a SECTION C — (20 marks)

costing system. What practical difficulties would

you meet while installing the costing system? Compulsory

17. From the following particulars taken from

15.  From the following information relating to quick Ramesh's books prepare trading and profit and

standards Ltd., you are required to find out oy loss account for the year ended 31t December
2008 and the balance sheet as on that date
(a) P.V. Ratio . . . Rs.
(b) Break- even-point. | m : . Land and buildings 47,000
Sales 94,500
(©) Profit o |
Wages 23,900
(d) Margin of safety and Sales reburns . 400
(e)  Also calculate the volume of sales to earn Opening stock 6,500

profit of Rs. 6,000. Salesman's commission 1,300

Total Fixed Costs Rs.4,500; Total Variable Cost

Carriage inwards 400
Rs.7,500; Total Sales Rs.15,000. .
Travelling expences 8,500
- 16.  Ascertain the cost and selling price from the Cash and bank 7,900
following : . .
= oY Bills receivable 1,200
Materials consumed Rs. 6,000; wages paid » Creditors 5,200
. 0, o .
.Wm. 9,000; works on cost moxv on wages; office on Liis by i 500
cost 20% on work cost; selling on cost 10% on work
cost and profit 20% on cost. Plant 35,000
Bank 5,600
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